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QUESTION 1

A customer wants to leverage the external storage capability of their VSP system with a Hitachi NAS Platform 4000
cluster. They are planning to attach a HUS 110 with SAS 7.2K drives to the VSP. According to HDS best practices,
which three use cases are appropriate for this solution? (Choose three.) 

A. home directories 

B. OLTP Database 

C. archive 

D. backup target 

E. VMware VDI desktops 

Correct Answer: ACD 

 

 

QUESTION 2

You are architecting a Hitachi NAS Platform 4000 solution for a new customer, and they ask about initial 

storage pool creation and future expansions. 

What are two HDS best practices? (Choose two.) 

A. Four SDs are recommended in a new storage pool. 

B. Two SDs are recommended in a new storage pool. 

C. If an initial storage pool was created with 2 SDs, the expansion would be 4 SDs. 

D. If an initial storage pool was created with 4 SDs, the expansion would be 4 SDs. 

Correct Answer: AD 

 

 

QUESTION 3

A customer is running Web messaging related applications using a Hitachi NAS Platform 4000. They are 

worried about data inconsistencies and would like to know how a WFS-2 file system can benefit their 

current environment. 

Which two functions will provide an additional layer of data protection? (Choose two.) 

A. Use multiple checkpoints. 
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B. Perform a quick rollback to a previous successful snapshot. 

C. Perform data recovery from the deleted file system. 

D. Execute the "consistency-check" command. 

Correct Answer: AB 

 

 

QUESTION 4

A customer with a Hitachi NAS Platform 3200 (source) would like to relocate all the data to a new Hitachi NAS Platform
4000 (destination) using Incremental File Replication with Transfer Primary Access (TPA). Which two are required
before the data migration can take place? (Choose two.) 

A. The source and destination firmware levels of the HNAS systems must be compatible for replication. 

B. The external SMU must manage the source and destination nodes. 

C. The source and destination nodes must be connected to different storage systems. 

D. The clients of the source and destination nodes must have write access to the snapshots before and after the
replication. 

Correct Answer: AB 

 

 

QUESTION 5

A customer is planning to implement active-active SyncDR with a Hitachi NAS Platform across two sites. What is the
maximum supported distance? 

A. 10 km 

B. 25 km 

C. 62 km 

D. 100 km 

Correct Answer: D 
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